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Grammar Week 8.notebook

November 08, 2020

Lesson 1

Year 5 - To use a range of determiners to specify
a noun.

Year 6 - To use hyphens

Mar 8-20:15

Mar 8-20:15

Year 5 - To use a range of determiners fo specify a noun.

travel to their local primary school in ' underlined?

£ car.

Can you circle
the determiners?
v

Known

Some parents will be helping us to set Unknown
up these schemes.

Year 6 - To use hyphens What's the difference?
Katie is my fun loving sister.

Katie is my fun-loving sister.

Dad teaches seven year-old children. ?

Dad teaches seven-year-old children.

Mum'’s going to recover the old chair.
Mum's going to re-cover the old chair.
Get the chair back or put a new cover on?

Mar 8-20:15

Mar 8-20:15

Inthe fridge; she found some water, two-jowy of jan
ands an empty bottle of milk: There way nobread: bl
can't just eat that jam; " she sadd to-herself.

Can you underline all the nouns and circle the determiners?

Here are todey'sy headlines: Maw finds twenty one-
pound coing Man-eating shark spotted i ocearn;
Bawgain-huumtery camp outside departiment stove:

Can you choose the most likely means for each headline?

Can yow create o et of instructiony onhow to- make
a jouw sandwich?

six spoonfuls...  both tins...

Counv yow write an advert for atheme park using
hyphens?

eq: child-friendly  fun-filled

Mar 8-20:15

Mar 8-20:15



Grammar Week 8.notebook

November 08, 2020

Lesson 2

Year 5 - To use expanded noun phrases

Year 6 - To recoghise impersonal writing

Mar 8-20:15

Mar 8-20:15

Year 5 - To use expanded noun phrases

Almost all squirrels in this area are grey
squirrels. They have dense silvery grey i'm@o What are
brown tinge[along]the back. They have a bisAy,  the nouns?
grey tail and ears without tufts.

They are tree squirrels. Their long., muscular
hind legs and short front fegs help them to leap.
Sharp claws are used for gripping bark ond the
long tail helps them to balance.

Noun phrases describe the noun

Year 6 - To recognise impersonal writing
We have organised a talent show for younger
pupils. We hope to raise funds for the new
playground equipment. We will give all
entrants a certificate.

A talent show has been organised for
younger pupils. It will raise funds for the new
playground equipment. All entrants will be
given a certificate.

Which sounds the more formal? Why?

Mar 8-20:15

T pmall wooden house by the shove of the lake;
there lived: a vich widow with three sons. To the east
of the lake; there stood o great mountouin with, snow
owthe top.

Can you underline the noun phrase around ‘house', ‘widow' and
‘mountain'?

A visit to- the Library was organised for Monday
morning: The librarias showed the childyvernhow to-use
the Librewy. The childrenw were encowraged toselect
lrouks tor read at home:

Can you underline the sentence not written in the passive voice?

Mar 8-20:15

Cauwv yow crreate a-chawacter description about thiy
creature wsing expanded noun phrases? WL g

two big round pale eyes in his thin face

Covw youw write o newy veport ow something that hay
happened. in school using awv impersonal writing tor
make it formal?

Mar 8-20:15

Mar 8-20:15




Grammar Week 9.notebook

November 08, 2020

Lesson 1

Year 5 - To understand and apply relative clauses.

Year 6 - To understand the structure of formal
writing

Mar 8-20:15

Mar 8-20:15

Year 5 - To understand and apply relative clauses.

Once, there was a king who had a
threadbare cloak.

The crown that he wore was made of tin.

He had a wonky throne, which had a
broken seat.

He was the only king whose castle was
for sale.

What are the words highlighted? What are they followed by?

Year 6 - To understand the structure of formal writing
We're having a party on Saturday. Our

Ellie's | 8th. Buffet, disco, the lot. Quite a do!

You will come, won't you?

Mr and Mrs Atkins request the pleasure of
your company at a party to celebrate the
eighteenth birthday of their daughter Ellie.
Formal dress is required. 5

What's the same/different?

Mar 8-20:15

Mar 8-20:15

The howse that we lived: in way in, James Street. Munw
alwayy liked to-talk: to-the: woman who- lived: acrosy
the road: She was the lady whose husband was intive:
Y.

Can you underline the relative clauses and circle the
pronouns?

Keep your eyey open whew yow crosy the rord.
Pedestriouns should remain vigilant whey crossing
the road:

What is the formal version of the sentence?

Can yow create your own relative clawses i o non-
fiction text? Eg: #f'-r’ %

A reptile is an animal.. -

You have just een given a knughthood, for your
services to- ... Can yow write o letter fromthe Queen
inwiting yow to-hey serviced?

e It iy wilh great honowr...

Mar 8-20:15

Mar 8-20:15



Grammar Week 9.notebook

November 08, 2020

Lesson 2

Year 5 - To use and apply brackets

Year 6 - To understand colons in clauses

Mar 8-20:15

Mar 8-20:15

Year 5 - To use and apply brackets

Jesse Owens (1913-1980) won four gold
medals at the 1936 Olympics.

Jesse Owens (an American athlete) won
four gold medals at the 1936 Olympics.

Jesse Owens (my dad's sporting hero) won
four gold medals at the 1936 Olympics.

What extra information is added?

Year 6 - To understand colons in clauses
The mill workers' demands were cleaf?)
they wanted better working conditions.

Current working conditions were
inhumané: yome workers were dying.

Mar 8-20:15

Mar 8-20:15

Robert Lowiy Stevensor 1850 -1894 wrote both storiey
and poemy. His frmous book Treaswe Iland ouv
exciting tale of piratey and villaing way furst
publishec in 1883.

Can you add in where the brackets should go?

Andrew had: concerns before they set off the weather
seemed. to-bre closing in
Andrew insisted on one rude they mustitoy in radio

contact at all ttmes.
Where should the colons go? Why?

Can yow crreate o mini biography based on Donald
Trump and add brackety in? If yow dow't know
detoily imake i€ up! i

Couwnv yow write o few sentencey about Denald Trump
using o colow betweeyy two- clowses?

Mar 8-20:15

Mar 8-20:15



Co-ordinating Conjunctions Lesson.notebook

%
)
Weonderful Writers Perfect Presenters
Bew Jack Robbie Ella T
Ethan
Joel
Ella &
Mar 8-20:15
LO: To use coordinating canjunclions correclly in a sentence
Prior Learning:
Which confunction best fity thiy sentence?
1 really don't want to do my homework tonight, I have to.

P

November 08, 2020

@!ﬂa Look/a*gwmymwwk,mw.,w
4 ol e oy ehallenges: IF yow needs help;
WwﬁWmeM!

A

Gresn

el \/ = My answer is correct

Think Pirke = = Think again about your answer
b /) = Think again about this part
Mar 8-20:15

II.T'.): To use coordinating conjunctions comeclly in a sentence
My Turn:

Coordinating conjunctiony are ofter referved: to-asr FANBOYS...

() and () but
r 7) or ( ) s0
Mar 25-18:52 Mar 25-18:52

ILO' To use coordinating conjunclions carreclly in a sentence B
ol or 7
My Turn; Y B O
@ A,
“ )

Coordinating conjunclions ave oftery referred. to-ay FANBOYS...

I Uke to-paint __ dras ivvart class:

Which conjunction:best fity thiy jentence?

LO: To use coordinaling conjunctions carrectly in a sentence
iy
Our Turn: o B
@'
4 )

Coordinating conjunctiony are ofterv referved to-ay FANBOYS...

I anvgowmg to e lessons: I can learn the prano:

Which comfunetion best fity this sentence?

Mar 25-18:52

Mar 25-18:52



Co-ordinating Conjunctions Lesson.notebook November 08, 2020

LO: To use coordinaling conjunctions correctly in 8 sen but 0: To use coordinating conjunctiol meclly in a sente but
2 o b . e
‘our Turn. of B o S Your Turn: ; B &
@’ R, & wiRe N
% o S 0l

Underline the coordinating conjunction’ daeiine : g comf

bananas at snack time.

1. We can have apples

Mrs Andrews wanted to play football but the field was too wet.
2. Mrs Baxter liked to play the guitar she wished she was better at it]
Add i o coovdinating conjunction:
Merge the sentences with ov caordinating conjunction:
1. Blade was feeling really hot he jumped in the swimming pool.
Robin Hood went in the river. Robin Hood caught a fish.
Merge the jentences with o coovdinating conjunction’

T+ wag sty day. They went for.a walki We waited for Caitlin. She didn't turn up.

Mar 25-18:52 Mar 25-18:52



Character Description Lesson.notebook

November 08, 2020

Look at yesterday's mathsy work and complete any
N Fin or challenges: (F yow need help,
phowne o friend or call an adult!
e \/ = My answer is correct
31-‘: Think Firk e = Think again about your answer
/") = Think again about this part
Mar 8-20:15 Mar 8-20:15
LO: Tocreale & charcter description in a narrative. LO: Tocreale a character description in a narrative. ::” e
not el
Your Tum: My Turn: Shodt sentancer
Punchagen
v TheCreatiwe inthe Sand: Sp—
What senses can you use to describe this character? Fiveschildren - Robests Antheds Janes Gyriliand the by = :vﬂ ot
explore o gravelpit near their new howe: Whenthey digor
hole iy the sands they ave surprised tor-finds o strange: LA S
e prhans arw thayT)

‘eyas. eas. body,
The childien stoods rownds the hole inva ring; lookingabthe ™4™
creatuwe they had found: It way worth looking at. Ity eyes
weve ovw hornelike a snailly eyes; and it could move
themvinv out like-telescopes; it had-eary like asbat'y ears;
and ity tubby body way shaped like a-spider’s and covered:
with thick soft fiwr; ity legy ands arme were furry too; and: it
had handy and feet like ar monkey'y.

Mar 25-18:52

LO: Tocreate a character description in a narrative. 1. 5t weh w advert
L Uha nquesicn
Your Turn: 3, Use mn exparsied roun phrss

The Creature (withe Sand
Five children - Rolreit, Anthea; Jane, Cyrik and the Baby -
explove o gravel pit near their new home: Whervthey digy o hole:
invthe sand they are swprised to-find: a strange creature.

Can you create your own fitle and ovgwiewfblurb about what is
happening in the story?

Can you include:

Mar 25-18:52
LO: Tocreale a character description in a nairative. 1. Stanwith an adverb
2.Use a question
My Turn: 3, Use an expanded noun phrass,
4. Usa atjeast ona simde
Deep down here by the dark water lived old Gollum, & small, slimy 5, Usa a short senience

crealure, | don't know where he came from, nor who or whathe was, 5 Usenfranted sdvarbial
He was Gollum - as dark as darkness, except for two big round pale (U b

eyes in this thin face. He had a [fila boat, and he rowed about quite
quially on the fake; for lake it was, wide and deep and deadly cold.
He paddled it with large feat dangling over the side, bul never a ripple
did he make. Hot he. He was looking out of his pale limp-like eyes for
blind fish, which he grabbed with his long fingers as quick as thinking.
He liked meat tao. Goblin he thought good, when he could get it; but
he ook care they never found him out. He just throttled them from
behind, if they ever came down alone anywhere near lhe edge of the
water, while he was prowling about, They very seldom did, for they
had a feeling that something unpleasant was lurking down there,
down at the very roots of the mountain.

1. Parenthesis (brackets/dashes) 3. Feslings/emotions
2. Fronted adverbial 4. Relative clause
Mar 25-18:52

Mar 25-18:52




Character Description Lesson.notebook

LO: Tocreate a characler description in a nagative.
Your Turn:

Deep down hera by the dark waler kved old Gollum, a small, shimy
creature, | don't knav where he came from, nor who of whal he vias.
Ha was Goflum - 8s dark as darkness, except for to big round pale
eyes in this thin face. He had a lftie baal, and he rawed about quie
quietly on the lake: for lake [t was, wide and deep and deagly cold.
He paddled it with large feel dangling over the side, but never a ripple.
did ha make. Hot he. Ha was laaking aut of his pale imp-ike eyes far
blind fish, which he grabbed with his lang fingers as quick as thinking.
Ha iked meal loo, Gabin he thought good, when ha could gel it; bul
e took care they never found him out, He just throltied them from
behind, if they ever came down alone anywhare near the edge of the
waler, while he was prowling abeut. They very seldom did, for they
had a feeling that somelhing unpleasant was lurking down there,
down at the very roats of the mountam.

1. Bony 2. Fragile
3. Skeleton-like 4. Bulging eyes
5. Slimy 6. Mysterious

1.An advarb
2. Use a queation

3, Use an expanded noun phrase.

4. Use alleastone simile
5. Use a short sentence
6, Use a fronted adyerbial
7. Uso patanthesis

8, Semi colan

Pick out gruesome details
using ad jectives to describe
the eyes, mouth, nose, ears,
arms, legs, feet, toes, hair,
bady... Engage the seiises

Use similes ta compare
something 'like’ or 'as'
something else that is nastyl

Use a rhetorical question to
reveal a scary thaught

Mar 25-18:52

November 08, 2020



1st Draft Lesson.notebook

November 08, 2020

Look at yesterday's maths works and complete any
b L or challenges: (f yow need: help,
phone as friend ov coll an adubd!
ol = My answer is correct
L8 Think Pink == = Think again about your answer
(") = Think again about this part
Mar 8-20:15 Mar 8-20:15

LO: To wrile a short dialogue LO: To write a short dialogue R
You Tun: by Turn: i

This is taken from Stig of the Dump, what is being said? What owearth ix (7 Jane said: ‘Shall we take: it home?' CEREm
mmwmuymmwwmmxmmm- S

How do you know?

‘Doey she alwayy talk nonienses ar i it only the rubbishon Sl
her heads that makes her silly?' kil can
It looked: scornfully at Jane's hat oy it spoke:
Shedoesn't mean to-be silly, Anthea said gently; ‘none of us

do; whatever yow may think! Dow't be frightened; we-dow't

want to-hewt yous yowknow.”

Mar 25-18:52
LO: To write a shorl dialogue 1. pasch
2 Uso a questan
Your Turn: 3. Use n faparted clain
4, 350w soma emofon
Can you creale your own first parl of speech? iﬁ:::’&“.'n..m.

7. Usa garenthesls

What oneasth i (67’ Jane said: ‘Shall we take it home?'  8semicko

The thing turned. ity long eyes tr look at her andjaid: - sty
“Doey she- alwayy talk nonsense; or iy it only the rubbizhvon

her head that makes her silly?'

It lovked, scornfully at Jane/y hat ay it spoke.

‘She doesn't meanto-be silly,” Anthea said gently, ‘nove of uy

doy, whatever yow nay thinkd Dow't be frightened; we don't

want to-hurt you, yow know.’

Either two characiers talking or talking to the crealura for the first
lime?

Mar 25-18:52

LO: To wiite a short dialogue 1 paach

2. Uss A gquarton

My Turn: it iy
. Show ncm e

Hurt med' (Fsid ‘Me frightened? Upon ny wordd Why, yowtalk ay 5 Unastedsenence

£ T weve nobody inparticular.’ AW ity fir stood out like avcat’s L b e

when it iy going to fight . ey

Welly' said Anthea still kindly, ‘pevhapy if we know who-yow ave: 9. Expanded nou phrasa

invparticulas we could think of jomething to- say that wouldn't

make yow angry. Everything we've said so-far seems tohave done,

30; Wher ave youd'

Yowden't know?' it said. Welly I knew he world had-changed. -

buet - welly really - doyow mean to- tell e seviously yow don't

know aP, dwhen yow see ane?

‘A Sammyadd? That'y Greek to-me:"

'Sor it i tor everyane,’ saidsthe creature shavply. ‘Well inplain

English, thens avSand-fairy. Donw't yowknow avSand-fuiry when

yowjewone?

It lovked, so grieved and hurt that Jane hastened to-joy, ‘of

cowse ] see youw ore, now. Iy quite plain no one comey to-look at

yow'

Mar 25-18:52

Mar 25-18:52




The Creature invthe Sand

Fve childven - Robevt Antheay Jane; Cyrib and the Balby - explove a gravel pic
near thedr new home: Whew they dig ahole in the sand they are surprised to-
find a strange crealure:

The children stoods round the hole v av ring, looking at the creature they had.
found.. It was wortivlooking at. Ityeye/ywwe/owbng/hormmwwmw:b’yey%
and, i could move them v ands out like telescobes; it had eary like o bat's ears,
and, ity tublby body way shaped like av spider’s and, covered with thick soft fur; ity
legs and, arms were furvy too; and it had handsy ond feet like o monkey’s.

What on eanthv iy it?’ Jane said. ‘Shall we tuke it home?’

The thing twrned ity long eyes to-look at her and said -

‘Does she always talk nonsense; or iy it only the rubbishv ovher head that makes
her silly?’

It looked scornfully at Jane's hat ay it spoke:

‘She doesn't mean to-be silly,” Anthea said gently; ‘none of uy do; whatever yow
may think! Dow't be frightened; we donw't want to-hurt you, yow know.’

Hurt mel i said. Me frightened? Upon my word! Why, yow talk ay if I were
nobody inparticular.” All ity fur stoods out like o cal’s whes it iy going to-fight.
Well,” sovid Antheay, still kindly, ‘perhapy if we know who-yow ave inv powrticular
we could think of something to- say that wouldwt make yow angry. Everything
welve saids so- for seemsy to-hawve done, s0; who-awe you?’

Yow don't know?’ it said. ‘Well, I knew he world had changed, - but - well,
veally - do-yow mean to-tell me sexiouwsly yow dow't know a Psownmead wher yow
seeone?’

‘A Sammyadd? That'y Greek to-me:’

‘Sor it is to-everyone;’ saidsthe creature shawply. ‘Well in plainy English, then,
Sand-fairy. Dowt yowknow o Sand-foivy whew yow see one?’
Itlooked/wgzrwvad/am}umﬂmtjmhamwbtom, ‘Of course I see yow
awe, now. Ity quite plain no-one comesy to-look at you.”

Yow come to-look at me; several sentences ago;’ it said crossly, beginning to-
cwr'l up agair inthe sand.

‘Oh - dow't go-away again! Do-talk some more;” Robert cried. ‘T didw't know
yowwere a Sand-fairy, but I knew dirvectly I saw yow that youw were nuch the
magnificent thing I'd ever seen.’

The Sand-fairy seemed o shade lesy disagreeable after this.

‘Tt 't talking I mind,’ it soidy ‘ay long ay yow're reasonably civil. But I'mv not
going to-make polite conwversatiow for yow. If yowtalk nicely to- we, pevhapy I'W
anpwer you; and perhapy I wowt.’

OF course no-one could think of awnything to-say, but at last Robert thought of
‘How long have yow lived here?” and, he said it at once:

‘Ohy agey - several thousand years,” replied the Psammead.

Tell uy about it. Do’

‘Tt'y all in books.’

Yow owen't! JTane said. ‘Ohy tell uy everything yow can about yourself! We dow't
kinow anything about yow, and yow awe so-nice.’ :

The Sand-fairy smoothed hiy long rat-like whiskery
and, smiled, between thew.

‘Do-please tell!’ said the children all together.
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Division - Week 2.notebook

November 08, 2020

Counting

Countin 4s:

Count from 0

Count from 1,000

Week 2 (Division)
Monday
Mar 8-20:15
Fluent in 5 #stemsentence
382022 + 63839 =
38292 - 8362 =
33x9=
267x 18 =

364.3 dividedby _ =3.643
Round 2348 to the nearest 10, 100

Mar 8-20:15

1. Problem:

Complete

ﬂu-ﬂem:i:]
QH*EHMIMI:!

U= 6 = HY

au —Dunss =40

How do you know?

A reclongle hos d perimeler of
&4 cm.

o

1t is dividad Info U Identical
rectangles.

Whal 15 the lengih of ohe of fhe

and 1000 a “l:]""“ = 80 smoller rectangles? @
Mar 8-20:15 Mar 8-20:15
2. Problem: How do you know? 3. Problem: How do you know?
Viita tha thias mis sing digty 19 maks this sddben eersct Wite the b Vbt Ui o mnukliBcation cuerest

Mar 8-20:15

Mar 8-20:15




Division - Week 2.notebook

November 08, 2020

er!;f M#yw@ymwkf@ﬂmmfbw
2 wiide o pordcoy challenges: If yow need help,

Mar 8-20:15

LO: To divide up to 4 digits by 1 digit numbers - Year 5

LO: To use long division by chunking - Year 6
What do you notice?

Prior Learning: How do you know?

Work out tha value of C
(The bar models are nal deawn 1o sea'a)

4950

Year 5 - using counters...

Can you divide 2486 by 2?
A

i
[CIC[E]C[C]

A
phane o friend or call an adulfl!
i \/ = My answer Is carrect
ﬁ Think pinkk = 5 Think again about your answer
5 () = Think agaln about this part
Mar 8-20:15

LO: To use long division by chunking

My Turn:
255'<
(360) 72)
=

e

What do you notice?
How do you know?

Mar 8-20:15

Mar 8-20:15

LO: To use long division by chunking

Qur Turn: What do you notica?

How do you know?

17 [7eis il
SRl bl /&
- ) {) Q

Your Tumn:

LO: To use long division by chunking
What da you notice?
How do you know?

1 8]7 G2
G ERETE) }

4

/
- LN ) \)

—rt’

Mar 8-20:15

Mar 8-20:15




Division - Week 2.notebook

November 08, 2020

LO: To use long division by chunking .i:_ LO: To use long division by chunking g :z— e
|Your Work; ' Hoxplainit o= Problem Solving - My Turn: #oxplainn o=
¥ itparipartwhole ifstemsentence Vi esl i 3 B the el b #stemsenience
15 rm wl“;f\el;:fg stion could be the odd ong
& x__) Lo iy ¢ 512516
5. 195 divided by 13 = s ML
o 02099
: * 6. 350 divided by 14 = o 7922260
836 - N= Evplain why
798 + 14 =
608+ 19=
Mar 8-20:15 Mar 8-20:15
LO: To use long division by chunking e i -
Problem Solving - Your Turn: fexplainit e
Fupslan tha piatabs #stemsantence
D T Tuesday
16] 74%
64| (xd)
106
-106 (x10)
0
Mar 8-20:15 Mar 8-20:15
Counting Fluent in 5 #tbarmodel ,}
28392 + 47330 =
Count in 9s: 28183 - 1932 =
27 x4 =
Count from 0 172x 28 =
1828 divided by 8 =

Count from 108

___divided by 100 = 65.32
Round 3683 to the nearest 10, 100 and 1000

Mar 8-20:15

Mar 8-20:15
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1. Problem: How do you know?

Amy has 20 cubes, Leo has €26
Ha buys the Fellowing Items.

Sha makes towers of 3 cubes.

She makes 6 towers, He has €12.60 left.

November 08, 2020

2, Problem; How do you know?

Lartje vigrad tost U8 80 asch

Bmal tezas wod (8 73 aach

Five chivan togsther buy ons lngs vizea and thvgs prall orgas
Thay shata the gt grmally

How irach o g3 gach ehild py?

How mahy eubes has she left? How much doss 1he pleea cost?
Mar 8-20:15 Mar 8-20:15
3. Problem:

How do you know?

The aras ol & rughy piich 18 8100 spuats inshede
& fnotbal phch tneastes 112 indies bong and B2 it wids

Hoove masch laig et ia th wras afths kbl puc than M stea of tha by pich?

[ ]

Ella C

Mar 8-20:15

Mar 8-20:15

Laoiuaf—ywdo-y's«ma*k&worbandwmplﬁbw
o challenges: If gow needs help,
phone a friend or call an adult!!

Oreen

far

Gromt \/ = My answer i$ correct

Think Pink == = Think again about your answer

5 (") = Think again about this part

LO: To use representations to understand short division - Year 5
LO: To use long division - Year 6

How do you know?

Prior Learning:

Round to the nearest 10, 100 and 1000:

36,049 -
28,634 -
736,026 -

Mar 8-20:15

Mar 8-20:15




Division - Week 2.notebook

November 08, 2020

LO: To use long division LO: To use long division
How do you know? How do you know?
My Turn: Qur Turn:
<) (1C) 186
gl | 4 3 2 Sa— 1 6|6 0 8
el -4 8 |
7 2
-7 2 (x6) -
Mar 8-20:15 Mar 8-20:15
LO: To use long division LO: To use long division Hoxplainlt 7 4T
How do you know? #inverse .y =
Your Turn: Year5: istamsentence
1 2 bkl gy Yearf: 1 2 Im
1 2[6 1 2 Toti Hees pal
5. 1 i y Fa TRLE L
N ERERE T 2. 493 divided by 17 =
= : . 3. 285 divided by 15 =
il ils 4. 2208 divided by 16 =
5. 1755 divided by 45 =
Mar 8-20:15 Mar 8-20:15
LO: To use long division #explainit __‘ ; = LO: To use long division #explainit ..": ; =
#inverse B = #inverse T
Problem Solving - My Turn: #slemsentence Problem Solving - Your Turn: #stemsentence
There are 2,020 footballers in tournamant. Each ik D acncomolethg Uk caievision
tearm has 11 playars and 2 substitutes. Howmany 3636 ~12
tearns are in the tournament 7 .
-I Windet ST T oow tarewil bea 1
€ [ |
slert
I ahe corpet?
Eeplam owe you kv
Mar 8-20:15

Mar 8-20:15
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Wednesday

November 08, 2020

Counting

Count in 7s:
Count from 0

Count backwards

Mar 8-20:15

Fluentin 5 #partpariwhole

37291 + 4839 =

863849 - 64837 =

83x7=

278x23=

2718 divided by 3 =

_ x10=7286

Round 46,282 to the nearest 10, 100,
1000 and 10,000

Mar 8-20:15

1. Problem:

A circle Is divided Into 8 squal
parts,

Shade J of the parfs rad.

Shada | of the remaining parts
blue.

How do you know?

Alysha and Bath go on d bike
ride.

+ In tha morning Alysha eycles 3
{imes s mony ki ds Beth,

1n the affarnoon Alysha
eyeles i km and Beth eycles
Y8 km.

They have now aycled the
sama distance,

How many ki did Alysha cycla In
the morning? B,

Mar 8-20:15

Mar 8-20:15

|12. Problem: How do you know?

Abagaislamayeods £1
Abanold orangss cods €180

e rruch miora doss ons otangs eastthan ans laman

|13. Problem:

A pack of papsr hae 150 shastz
4 childtan gach take 7 shasts

How many shaals of papsr ars lefl in fhe packal?

Mar 8-20:15

How do you know?

Mar 8-20:15
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November 08, 2020

%’: Lovk at yesterday's maths work endeomplefe any
oo Loy ehallenges: If gour need: help,
phone o friend or call o adulf!!

4

Growth

/= My answer |s correct

\/
ﬂ Think fik —— = Think agalh about your onswer

g ( = Think again about this part

Mar 8-20:15

LO: To use long division with four digit numbers

My Tum: How do you know?

206 a0 26|7
8

9

7 e 78
I Ti0-A FEERIYE

- 1

Mar 8-20:15

LO: To use short division with four digit numbers

Your Turn: How do you know?

2 4]12 0 6 4 24]2064

= (x)

= (x_)

%
£ Y
Perfeet Presentfers
Elo-T
Etiran
Joel
Ela-C
Mar 8-20:15
ILO: To use long division with four digit numbers
Prior Learning: How do you know?
Can you explain each method? L] 311
1 3
& Ol Sl 2| 62
31)4 iy 11, 31;& 34 3 a3
’< 8l 4] 124
530 N L] 2 55
(‘ . L24 -
0 ) (124 ) : 6| 186
- - | 7| 217
8| 248
9| 279
10| 310
Mar 8-20:15
LO: To use long division with four digit numbers
Our Turn: How do you know?
2 3|14 945 26|7904
A )
- (x_)
Mar 8-20:15

Mar 8-20:15
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November 08, 2020

LO: To use short division with four digit numbers LO: To use short division with four digit numbers
iYour Turn: #explainkt TR IProblem Solving - My Tum: Meplins Lt
fipartpartwhole #panparwhole
245088 24[5088 A school needs to buy 1632 biscuits to pass around at parents' evening. They come in packets of
C— AL s S 2 423018 = 24, How many packels will the school need to buy?
f— L&) 3.5650 = 25b = #paripartwhole
4.6168 - 24 = #differentrepresentations
5. 6020 - 28 =
6.1785+35=
Mar 8-20:15 Mar 8-20:15
LO: To use short division with four digit numbers
Problem Solving - Your Turn: #explaini TS
fipanpariwhale
2538 people applied to be in a T.V. show audience. 14 people were invited to each show. How
many shows did they make wilh full audiences and how many peaple were not invited? Th u rSday
#partpartwhole
#differentrepresentations
Mar 8-20:15 Mar 8-20:15
Counting | ; Fluentin 5 #drawit
; , ' 37291 + 27383 =
Count in 100s: 372921 - 3781 =
Count from 0 12x9=
271x27 =
Count from 100,000 522 divided by 9 =
___divided by 1000 = 0.0783
Round 67,291 to the nearest 10, 100,
1000 and 10000
Mar 8-20:15 Mar 8-20:15
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1. Problem: How do you know? |12. Problem: How do you know?

There ara 12 people on @ bus. L.
A box of B aranges cost €180 P

~

+ Al the first stop 3 people get
off the bus.

Af fhe second stop 8 paople
get of f tha bus and 8 pecple

get on. How much do 80 oranges cost?
How mahy people are on thebus  Show your method,
how?
Mar 8-20:15 Mar 8-20:15
3. Problem: How do you know? o
6842 + 17 = 326 "4?
:s|amlm\mmwlmlﬂlr-mu'uruwrﬁ-lhhm - ‘
Perfect Prisenters
Ele T
\ [ Efhan
Joel
Ella C
Mar 8-20:15 Mar 8-20:15
< |LO: To use long division with remainders
'.-*;‘? Loy QWM Aiathiwork: ey Prior Learning: How do you know?
% b Tircids oy challenges: ‘FHMWW -
' wfr e Thire .1 Can you match the following?
o N i)
A _\/ = My dnswer s correct e pns
ﬁ [hink P == = Think again about your answer o
= Think agaln about this port Py wes |

Mar 8-20:15 Mar 8-20:15
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LO: To use long division with remainders
Discuss:
What do you notice?

How do you know?

1349 A 23.6
(O ojs s 4 | BPRTE 40
EN i io
=y T 10 TRk
; o 3 4
L 45 Ak
v = % o
Bt
a
e iR
ey
$0,354=1522310 | S0.354+15223) 503544152216

November 08,

2020

| O: To use long division with remainders

My Turn: remainder -
fraction -
1 5]4 537 decimal -

How do you know?

Mar 8-20:15

Mar 8-20:15

| O: To use long division with remainders | O: To use long division with remainders
Our Turn: remainder - [Your Turn: remainder -
2 6 3 FE 2 9 fraction - 1 8|2 7 3 5 fraction -
decimal - decimal -
How do you know? How do you know?
Mar 8-20:15 Mar 8-20:15
| O: To use long division with remainders r :: - | O: To use long division with remainders s ; P
it i T A
our Wark L e Prablem Solving - My T o e Red
r 2 ol - ;
frour Work #representation = um #representation
1 7' 2T Thare are 7349 people going 10 a concert. Esch
5 L coach holds 64 people. How many coachas are
2823 diided by 2] = naadod to transport all the peopla?
3, 842 divided by 32 =
4. 3828 divided by 28 = ramainder remainder
5. 8362 dividad by 32 = fraction fraction
6. 3523 dividad by 15 = dacimal decimal

Mar 8-20:15

Mar 8-20:15

10
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November 08, 2020

| O: To use long division with remainders o
Hexplainit D), 1Y
Problem Solving - Your Turn: v T s 4 5 S
T Hreprasentation
[ ) Friday
[ amics e pam B } :_'".’"
e remalnder
) fraction
d decimal
Mar 8-20:15 Mar 8-20:15
1. Problem: How do you know?
Jane reads a book,
« On Mohday she reads 26
- A pages.
Arithmetic « On Tuesday she raads § of
the remalnlng pages.
+ On Wednesday she reads the
final 36 pages.
: How many pagas dra In the
Whdt Is the mass of the walight book?
an the sacond scala?
Mar 8-20:156 Mar 8-20:15

2. Problem:

Juesb ety d efias of il o thina poces

How do you know?

The letioth ofths frd ace 12 .20 mstiey
i lenigth fthe send pses i 1.69 mates
vk oul the length ol s thad tece

|

3. Problem:

Bt ety H15

e BHLES § ey

P g 4 €1 3pons b3 Fakr B el

|
Vo b b8 41 PR Brr it
B b o oy BARE Do o g i
f

How do you know?

Mar 8-20:15

Mar 8-20:15

11



Division - Week 2.notebook November 08, 2020

*;;9 X ‘{1% Look at yc»bhbrday'y maths works andeomplete any
4 a'"_,‘ it o e ior challenges: If yow needs help,
4 phaont o friend or call an adid !
Ofgen
Pevfect Presenters for
Bl fRl \ / = My answen is correct
<) Fhink Pirk == = Think again about your answer
Ethan i #
=
e 5 (") = Think again about this part
Ella C i

Mar 8-20:15 Mar 8-20:15

LO: To understand the order of operations LO: To understand the order of operations
Prior Learning: How do you know? Discuss: How do you know?
\Vork out the missing number: How many different ways can you calculate this:
6x35= x5
4x24 = X6 3+5x8=
10x 30 = x3
Mar 8-20:15 Mar 8-20:156

LO: To understand the order of operations |LO: To understand the order of operations
Discuss: How do you know? Discuss: How do you know?
We use BIDMAS to help us solve calculations: B+5x2= bl
Divinsn
3 Muhipheation
/f\l\ Brackets Leo Lexi i,
y en
i /- botau s Indices @00 000
pom N Bivision (00000
L bl 2N '\\ Multiplication 200
0 A s
P 72 P Addition
Subtraction Who is carrect?
el priotity
Mar 8-20:15

Mar 8-20:15
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|LO: To understand the order of aperations W |LO: To understand the order of operations G
Turn: Who is correct? el Our Turn: How do you know? ion
Multipkeatian Maltiphcation
x5-2= How do you know? Additizn B+ (3x6) = Addition
3 Subtraztion Subfracthan
Leo d OOLexl 00 [elule) 888 00
od O 000 0Q0Q 00
oop OO 000 ®OOO 0080 O080 283 fote)
O [e]5]8) 000
&5 oo% 300 888 000
x5
| gk
35320 16 -2=13
Mar 8-20:15 Mar 8-20:15
LO: To understand the order of operations e LO: To understand the order of operations
Your Turn: How do you know? ﬁ;':. ) [Your Work: explain it
P-(3x4) = m\::““ Malch each calculation to a raprasentation:
el il 3+2x6 38+2
5 C
o 2
5 o Bheevk
nes+s 10+
2.26-(2x8) = 4.6x(13-2) =
3.12+4+6= 5.12-4+2= i
Mar 8-20:15 Mar 8-20:15
LO: To understand the order of operations bels LO: To understand the order of operations D
Problem Solving - My Turn: sexplainil R Prablem Solving - Your Turn: Hexplain it g‘? ':i;i_ il
1 Additian T Additizn
5a. Cian Is completing this calculation: #represent it Subtractien Write different number sentences using #represent it Subtractien
the digits 3, 4, 5 and 8 before the equals
12x3+2749 sign thatuse:
* Oneoperation
« Two operations, no brackets
The answer s 7. i « Two operations with brackets
Idid 12 x 3 = 35, -
34427243, 7’
thené3+¢=7. Elan
Is he comect? Explaln how you know.
Mar 8-20:15 Mar 8-20:15
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